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Question No : 1

By default, what does the "asktime" utility do when executed on the utility node?

A. Configures the current time on the utility node and on all storage nodes
B. Reports the NTP server's current time

C. Reports the time on the utility node

D. Configures the current time on the storage nodes

Answer: A

Question No : 2

Which time zone is used on EMC Avamar nodes?

A. Local time on the utility node; GMT/UTC on the storage nodes
B. GMT/UTC on the utility node; local time on the storage nodes
C. All node types use the local time

D. All nodes use GMT/UTC time

Answer: A

Question No : 3

A company using EMC Avamar wants to delete a backup from their grid during the end of
the maintenance window. However, they are not able to delete it.

What may prevent the backup from being deleted?

A. Garbage collection has been manually started
B. Maintenance activities have been suspended
C. Backups are running on the client

D. O/S capacity utilization exceeds 80%

Answer: A

Question No : 4
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What does an HFS check do?

A. Validates the integrity of a checkpoint

B. Performs server checkpoint rollbacks

C. Performs a snapshot of an Avamar server
D. Checks for RAID controller errors

Answer: C

Question No : 5

What are the three O/S user accounts that are used by the EMC Avamar server for
authentication?

A. root, admin, and dpn

B. root, MCUser, and repluser
C. admin, MCUser, and repluser
D. root, dpn, and MCUser

Answer: A

Question No : 6

A storage node in a multi-node Avamar server has failed and a replacement node has been
added to the grid. What is used to reconstruct the data on the new node?

A. RAIN
B. RAID
C. Checkpoint
D. Replication

Answer: A

Question No : 7

In an EMC Avamar backup operation, which process always produces identical chunk
results given the same data?
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A. Sticky-byte factoring
B. Compression

C. File caching

D. Hashing

Answer: A

Question No : 8

An EMC Avamar Gen4 server has arrived at a customer’s site. You begin reviewing the
hardware for an Avamar 6 installation. You find that two of the five nodes are Gen3 running
RHEL OS and the others are running SLES OS.

Can you proceed with the install?

A. No. All nodes in a Gen4 server must be Gen4 running SLES OS.

B. Yes. The two nodes running RHEL can be re-kickstarted with SLES OS.
C. Yes. The three nodes running SLES can be re-kickstarted with RHEL OS.
D. No. All nodes in a Gen4 server must be Gen4 running RHEL OS.

Answer: A

Question No : 9

Which EMC Avamar replication mode allows for many-to-one and bi-directional replication?

A. Normal

B. Failover

C. Root-to-root

D. Selective root-to-root

Answer: A

Question No : 10

Which interface is used to start Avamar Client Manager?
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A. Enterprise Manager
B. Command Line

C. cron job

D. Avamar Administrator

Answer: A



